N = 0l & At & Ml A

fAM: EXNFXID
Hil: ENRX (MY - SAILANER/AHIE - DESF)
|

Sel SNRIES 25 CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ST= X 58,272,867 32,161,599 26,111,268
= 3,070,000
s 31,225,134
= 23,977,733
SN (&Y - SAINLLHUX/MSEE - DEF}) 32,985,309 9,270,076 23,715,233
s 25,385,134
< 7,600,175
EXsxas Lot 169,500 250,700 A 81,200
JISSX OHAE &K 95,500 105,500 210,000
201 et 70,500 75,500 A5,000
01 At 22l 55,500 55,500 0
OJIgRi g8 55,500
03 A2 Z Hl 15,000 20,000 A5,000
O=UnR=IIIY d&R KX &2 15,000
202 044l 18,000 20,000 A2,000
01 = LH o4 1l 18,000 20,000 A 2,000
OJIg=X OHAHE HH=a 18,000
203 YR =] 7,000 10,000 A 3,000
03 AIF=XH 2 =AY 7,000 10,000 A 3,000
OFEN=X 2 RAI2 R 7,000
JIERX ldEE K& 9,000 9,000 0
301 LEXZ 5,000 5,000 0
12JEEd= 5,000 5,000 0
Ot ZI JIYKRX 413 5,000
303 Z& 3 4,000 4,000 0
01 243 4,000 4,000 0
OFXRX R==AlZ L& 4,000
JIGENZES HAHAE =8 &8 9,000 14,200 25,200
201 Let24d] 7,200 9,200 A 2,000
01 At 2teltl 7,200 9,200 A 2,000
OZURZI 01&EIY MEBYEC 4,200
OFX:X A2 29 3,000
301 LA F 1,800 5,000 A 3,200
12JIEBE243 1,800 5,000 A 3,200
ENRX 22 = 1,800
a2 Z2HE SEXNRI 56,000 122,000 A 66,000
201 Let249y| 36,000 71,000 /35,000
01 At 22l 35,000 70,000 /35,000
ogdgz 2,000




fAM: EXNFXID
Hil: ENRX (MY - SAILANER/AHIE - DESF)
|

g2 Edsilas 23 (cho &)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET

OAMEA iz & 2eldl 21,000
OMEES 7Y & =8I s Xyl 12,000

02 =224l 1,000 1,000 0
OMEA MRS 1,000

202 odl 15,000 38,000 A 23,000

01 = LH o4 1l 7,000 18,000 A 11,000
OUn= Z2HME EXRX =& 7,000

03 =220l 8,000 20,000 A 12,000
OUH R o TZRE JHAEXA HAEZ 8,000

301 LBEXS 5,000 13,000 A 8,000

07 2eI=& 0o bl 5,000 13,000 A 8,000
Ooflel EXNX EXNUHAEX =3 5,000

Ol&EIIY MEXA 32,815,809 9,019,376 23,796,433
s 25,385,134
< 7,430,675

=@ 0l&IIY BEXx3 XA (=21) 29,315,809 7,067,541 22,248,268
s 25,385,134
< 3,930,675

403 XIS E X201 & 29,315,809 7,067,541 22,248,268
s 25,385,134
< 3,930,675

01 X SHHX2E = 29,315,809 7,067,541 22,248,268
QOol&EIIY BEX3 29,315,809
s 25,385,134
< 3,930,675

EtAIE O1MDIY EX3 K& 3,500,000 1,951,835 1,548,165

403 A X EHHS 20l A 3,500,000 1,951,835 1,548,165

01 X HMA=2E X 3,500,000 1,951,835 1,548,165
OEANZ 01&IIYg Ex3 XA 3,500,000

228 AMUE d&ote 722 A (Mg - =40/ 70,000 87,000 A 17,000

HUX/RSALERSIA)

AwsSH Jls 2t 70,000 87,000 A 17,000

SZEAY AIHZ=Z 70,000 87,000 A 17,000

202 oddl 15,000 20,000 A5,000

03 =AW 15,000 20,000 A5,000
O2=2¢g 2u - & H4F =& 15,000

203 &2 =&l 55,000 67,000 A 12,000

03 AIHZ=XH R =AH| 55,000 67,000 A 12,000
OZHEH2ASE s deldn A 25,000
O=2=2% ARUENID & OAHE U 14,000
ORXE X L U = 16,000




2N

ENES NI

FH: SR DL (MY - SAILLNUN/MHIE - DE3t)
Chelr AP EX =& 2e] (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
SRl A (MY - SAINLANUX /M E - DS} 11,310,400 12,981,800 A 1,671,400
)
= 1,510,000
s 1,500,000
< 8,300,400
AICHT =A 2R 11,310,400 12,981,800 A 1,671,400
= 1,510,000
ras 1,500,000
< 8,300,400
AHER KR 1,739,400 40,800 1,698,600
201 L2l 20,000 20,000 0
01 At 2t 2l 20,000 20,000 0
OMPHIAHEMARAS 29 20,000
202 4l 9,000 10,400 A 1,400
01 201l 9,000 10,400 A 1,400
Q&R X R2FX 9,000
307 glz2tol & 10,400 10,400 0
02 IZtE M AHEE 10,400 10,400 0
O=3HX 43t XA 10,400
308 XXM SOIA 1,700,000 0 1,700,000
01 AXHHILEES 1,700,000 0 1,700,000
OZ3E s32HA =718 =JFH N2 1,700,000
NS BLESFTHL (HE) 4,061,000 0 4,061,000
403 XtXISHAI S Xt 2 0 & 4,061,000 0 4,061,000
01 X EHHMA=ZLE L 4,061,000 0 4,061,000
OZE3A Ect=0h Lot (H &) 3,599,000
O 22 Jutad X (HE) 462,000
SENY SHUYHNA (SZEX HEH) (W) 1,950,000 0 1,950,000
403 XIS E X201 & 1,950,000 0 1,950,000
01 AXSHHMA=2EE 1,950,000 0 1,950,000
ORF 2% =3 (HE) 400,000
Od=F HHE s (HE) 600,000
OHY HY =3 (ME) 400,000
028 s3H4X(Hs) 150,000
O"E =ZHX(HE) 400,000
EHFEAM WAL (ZD) 200,000 3,000,000 22,800,000
= 200,000
403 MHXISHE X201 E 200,000 3,000,000 22,800,000
= 200,000
01 X SHHAN2E = 200,000 3,000,000 22,800,000




fAM: EXNFXID
H: EX)I ZH (MY - SAISLANER/ASIE - DS

el AT FAZ2 (el @2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OFBLEHMAST JIBAIE HYER B4 200,000
= 200,000
2T WMAIE (=) 1,310,000 500,000 810,000
= 1,310,000
403 MtXISHHE X201 E 1,310,000 500,000 810,000
= 1,310,000
01 XM A2 X 1,310,000 500,000 810,000
O3 SULBHAATI JIEHAIE 3 AHHI 1,310,000
= 1,310,000
E& ICTHHAEH A (21) 2,050,000 0 2,050,000
s 1,500,000
< 550,000
403 A X EHHS =0l A 2,050,000 0 2,050,000
s 1,500,000
< 550,000
01 X HHMA=LE L 2,050,000 0 2,050,000
O=d ICTHHAH AHE ,050,000
as ,500,000
< 550,000
2 ZZHE FASHFELXNIML/XNAL Al ,876,400 7,476,400 5,400,000
= 1,560,000
s 4,340,000
< 6,976,400
Ol X HEZA S48 7,000 7,000 0
JIEEAl A4 7,000 7,000 0
201 €82l 2,000 2,000 0
01 At 22l 2,000 2,000 0
OJIHEZA AL HRF2 2,000
202 o4dl 5,000 5,000 0
01 = LH o4 1l 5,000 5,000 0
OJSEEA HE HRFH 5,000
SAUEA 24 & 2d gRFH ,869,400 7,469,400 5,400,000
= 1,560,000
Fas 4,340,000
< 6,969,400
SAZA 24 ¥ XA 109,400 9,400 100,000
201 et 4,400 4,400 0
01 At 22l 4,400 4,400 0
OSHAMEA 243t XA 4,400
202 04l 5,000 5,000 0
01 = LH 4 Hi 5,000 5,000 0
OSHAME Al 43t XA 5,000
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fAM: EXNFXID
HH: HH2IHH(EXS X)) (IIEH/IIE)

Sl Il = Al (ol @)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET

ORN2Z =U0tl 13,500

203 YR =2l 10,800 10,800 0

01 JI22L S =4 6,600 6,600 0
OSZEENSHE=ZE 6,600,000 6,600

04 FNSELR=LH 4,200 4,200 0
©2521 0| &t 350,000& x12& 4,200

HRES(ASXNANLINS) (L3 /Jetad) 858,000 198,000 660,000

HEAHHK = 858,000 198,000 660,000

ANEXANEI S0 == Jelsaes 858,000 198,000 660,000

705 ==& cl 34 858,000 198,000 660,000

03 Al - EXGHED I SH =R S & 660,000 0 660,000
O©'144 RIS A L2 WA 660,000

04 Al - SXEIHLI S0 =30l K& 198,000 198,000 0
©'1448 J|FINSEA MLERE HE 198,000




